
 

 

  

https://testzone.smartkeeda.com/Test/Pricing


 

 

Seating Arrangement for SBI PO Pre, IBPS PO Pre, SBI Clerk Mains, 

IBPS Clerk Mains and LIC AAO Pre Exams. 
SA Set No 168 
 

Directions: Study the following information carefully and answer the questions given beside. 
 

Eight cars viz. C1, C2, C3, C4, C5, C6, C7 and C8 are parked in two parallel rows namely row-1 
and row-2 facing towards north such that the car standing in the row-2 faces the back side of 
the car standing in front of it in row-1. Equal number of cars stand in both the rows. 
  
C3 stands second to the left of C4, which does not stand at any extreme end. C1 and C4 stand 
in different rows. C5 is third to the right of C2. C8 does not stand at any of the extreme ends. 
C7, which stands in row-2 is opposite to C1. 
 
 

Questions : 
 

1. Four of the following five are alike in a certain way and thus form a group. Which of 
the following does not belong to the group? 

A. C2   B. C3   C. C6   D. C8   E. C5 
 

2. Which of the following cars is parked opposite to C4? 

A. C3   B. C8   C. C5   D. C1   E. None of these 
 

3. Which of the following cars is not parked in row-1? 

A. C6   B. C2   C. C1   D. C5   E. C8  
 

4. What is the position of C4 with respect to C3?  

A. Immediate left B. Second to the left C. Second to the right D. Immediate right      
E. Both are in different rows 
 

5.  Which of the following cars stands opposite to C6? 

A. C1   B. C5   C. C7   D. C4   E. None of these 
 
 

Correct Answers: 
1 2 3 4 5 

D B A C B 

 



 

 

Common explanation : 
 
Reference: 
C3 stands second to the left of C4, which does not stand at any extreme end. 
C5 is third to the right of C2. 
 
Inference: 
Following two cases are possible. 

 

 

 

Reference: 
C1 and C4 stand in different rows. 
C7, which stands in row-2 is opposite to C1. 
 
Inference: 
With the second hint it is clear that C7 stands in row-2 and C1 in row-1. 
 
As per first hint, C4 must stand in row-2, thus Case-1 eliminates. 

 

 
Reference: 
C8 does not stand at any of the extreme ends. 
 
Inference: 
The only left place is assigned to C6. 

 

 



 

 

Answers: 
 
1.   Following common explanation, we have 

 
C8 is the odd one out as rest cars are parked at extreme ends. 
 
Hence option D is correct. 

 
 

2. Following common explanation, we have 
  

C8 is parked opposite to C4. 
  
Hence option B is correct. 

 
 

3. Following common explanation, we have 
  

C6 is not parked in row-1. 
  
Hence option A is correct. 

 
 

4.   Following common explanation, we have 
  

C4 is second to the right of C3. 
  
Hence option C is correct. 
 
 

5. Following common explanation, we have 
  

C5 stands opposite to C6. 
  
Hence option B is correct.  
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